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e Please check that this question paper contains 16 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 am, the students will read the
question paper onty and will not write any answer on the answer-book during this period.
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General Instructions :

(i)  This question paper contains three parts A, BandC.

(ii) Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.
(iv) All parts of the questions should be attempted at one place.
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PART - A

(TR GHE qor Hrufray & e s

(Accounting for Partnership Firms and Companies)

“SHUTT’ S 27 AT |

Give the meaning of ‘Debenture’.

QeI / A WIRRR 3 STieer) GH 3 @ 3 e o & sfusrt 94t 2 € 2

Why heirs of a retiring / deceased partner are entitled to a share of goodwill of the
firm ?

T B T T F YR WOARER F GHGT 4 WEER B % e e
AT |

Distinguish between ‘Dissolution of Partnership’ and ‘Dissolution of Partnership
Firm’ on the basis of closure of books.

m,ﬂmﬁm%m%,%ﬁi%%mﬁmﬂméﬁﬂmﬁ% | g Srg &
¥ TG T € | VY WRERI % AT ST I BT |

1 1
X, Y and Z are partners sharing profits in the ratio of Y % and 7. Find the new ratio of

remaining partners if Z retires.

FE TF ]| FAEC Wae el afuemr & w9 § wa gl sy fear e
THEATE |

Give any one purpose for which the amount received as ‘Securities Premium’ may be
utilised.

T WEER B ¥ AT F A afav ¥ 2

What is meant by ‘Reconstitution of a Partnership Firm’ ?

U it gu et =t 53 = frm arfirepem ofter e . Frifm e s R £ 9

What is the maximum amount of discount at which forfeited shares can be _re—issued ?
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8. wﬁrqaigfrz@wﬁﬁmﬁm 4 77 1 3 % SR H AN T AR B @ & | IAB A
e ¥ 2,00,000 @41 T 1,50,000 <t 1 1 318, 2013 ﬁaﬁ#aﬁ%ﬁuﬁwﬁﬁéw%
Tt o T wERR & v ° W 1 a7 1,00,000 & ¥ w0 § @it w9 et
1 Gl HIAT g1 AT, & w6e W IR S ¥ fAu smavas demrer vlaneat
AT | 3

Saloni and Shrishti were partners in a firm sharing profits in the ratio of 7 : 3. Their
capitals were ¥ 2,00,000 and ¥ 1,50,000 respectively. They admitted Aditi on 1% April,

2013 as a new partner for ‘é“h share in future profits. Aditi brought ¥ 1,00,000 as her

capital. Calculate the value of goodwill of the firm and record necessary journal
entries for the above transaction on Aditi’s admission.

9. &t R 3 1 e, 2012 T 100 ¥2F ¥ 2,000, 12% FurEt &1 L= fean | fma
WY T W ARG gen | P o vt % S E sl W anfenfie SR T 30
oot agr 31 o @t 37 gar & aur |9 9T S # FRT 10% &

31 W, 2013 S EET B AT SHEH F AT S A Tty qor o T e s
T A-BI T&Evr § TFIRE %0 3 aTavass dermen sffest ST | 3

BG. Ltd. issued 2,000, 12% debentures of ¥ 100 each on 1* April 2012, The issue was
fully subscribed. According to the terms of issue, interest on the debentures is payable
half-yearly on 30™ September and 31% March and the tax deducted at source is 10%.

Pass necessary journal entries related to the debenture interest for the half-yearly
ending 31% March, 2013 and transfer of interest on debentures of the year to the
Statement of Profit & Loss.

F 10. Frefefas uitfeatamt & svaves dsmmrn vfafes it 3
1 () %9 e 3 T 100 W% F 3000, 12% FoE, S frms 109% e @ fwa
T 1, F I $E T 100 THF & GEar iF § iEtae s fear | owen sivh w
25% sty qv Fifir forar m o |
(i) & AT S T 1,000 W&F % 1500, 12% o, {5t i 10% w2 w fear mn

o1, W YT 3% T 50 UhF & T oivi | uiafaa ek fpar | auan siet @ wwge
Y frniftre fepar mar o

Pass necessary journal entries in the following cases :

(i) Kay Ltd. converted 3000, 12% debentures of T 100 each issued at a premium of
10% into equity shares of ¥ 100 each issued at a premium of 25%.

(if) Jay Ltd. redeemed 1500, 12% debentures of ¥ 1,000 each issued at a discount of
10% by converting them into equity shares of T 50 each issued at par.
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11. g, foom ve T o W § GERT 4 99 ShEvE 5 ;3 : 2 % SR § ol i AW w0

W |31 |, 2013 B S (eaiq-faer FHefofad o

31 \T, 2013 @Y R, frewe oo o Rerfa faawor

o1 qaT 2,00,000
o 3,00,000 TR 3,00,000
faere 2,50,000 Lrics 1,10,000
[ 1,50,000 | 7,00,000 | €= 1,00,000

T Y 60,000 | TRR 80,000

ARE 1,10,000 | T 80,000

8,70,000 870,000

53

() Wt i e A o % s o & 23 o 3 5 & SR A

it w1 T 1,50,000 &1 |
(@)  IoN W 10% a1k g | = fear s |

@ 99 2013-14 % o frwet ad @ 5 F AR afe A s S & T 1,50,000

q |

1 3RS, 2013 Wi &0 & SRR i e foFw ST aren fovg =1 el Wit 3R i |

Virad, Vishad and Roma were partners in a firm sharing profits in the ratioof 5:3 : 2
respectively. On March 31, 2013, their Balance Sheet was as under :

| SRS, 2013 i 5RE ®I Gog & % | AT WESRT AT T SAEHR & i WA g8

Balance Sheet of Virad, Vishad and Roma as on March 31, 2013

Liabilities A‘“g‘“‘t Assets Am;"“’
Capitals : Buildings 2,00,000
Virad 3,00,000 Machinery 3,00,000
Vishad 2,50,000 Patents 1,10,000
Roma - _1,50,000 | 7,00,000 ! Stock 1,00,000
Reserve Fund 60,000 | Debtors 80,000
Creditors 1,10,000 | Cash 80,000
8,70,000 8,70,000

Virad died on October 1, 2013. It was agreed between his executors and the remaining

partner’s that :

(a) Goodwill of the firm be valued at 2% years purchase of average profits for the

last three years. The average profits were T 1,50,000.

(b) Interest on capital be provided at 10% p.a.

(c) Profit for the year 2013-14 be taken as having accrued at the same rate as that of

the previous year which was ¥ 1,50,000.

Prepare Virad’s Capital Account to be presented to his Executors as on October 1,

2013.
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12. o fefree @t st & fr @At & T strevass s fsfest S 4

(@ T fofies 3 $e T | T 7,20,000 # 994 # w9 B | e i @t
% 100 Weie o T 390 H 10% & 9% W wifaa #33 qrna fean wan

@) T Tafee = foww fefaee © T 2,50,000 1 TR 1 T O] sear @i | e
% 2,20,000 =1 g T 10 Weds % YU VoW WA 19 I A 9y e w1 9 gree
§RT 39 A1 | Wit qen e Frefeie @ a9
W TE HeiEd € 90,000; W T 90,000; fafaw 3R T 30,000; € T 50,000,
g ¥ 20,000; faferwr w1 2 20,000 |

Pass necessary journal entries for the following transactions in the books of Rajan Ltd :

(a) Rajan Ltd. purchased machinery of ¥ 7,20,000 from Kundan Ltd. The payment
was made to Kundan Ltd. by issue of equity shares of ¥ 100 each at 10%
discount.

(b) Rajan Ltd. purchased a running business from Vikas Ltd. for a sum of ¥ 2,50,000
payable as ¥ 2,20,000 in fully paid equity shares of ¥ 10 each and balance by a
bank draft. The assets and liabilities consisted of the following :

Plant & Machinery ¥ 90,000; Building ¥ 90,000; Sundry Debtors ¥ 30,000;
Stock T 50,000; Cash ¥ 20,000; Sundry Creditors ¥ 20,000.

13, o AT @ FE % 9% T v P F e § i § € FHeR 9 % A ISI
T At Tl i aRge w1 fi e & AT T eReRt W e e w1 Folg fe
AT 7 el i o ol % WEEN & 0 H wF F ufae S0 @ st gt oft s @)
e W o9y 9 ¥ 2 e aTaiie goHede U giene e € 1 piE 3 3R e
W forar 11 3m, 2012 F Frefefaa it WS Rt w5 A e 4
() o7t % ¥y = weEm T 4,00,000 T FEW T 2,00,000 T |
(i) OO, PN qAT S 2: 2 : 1 % STU | AT B AR H4 |
(ifi) et R 6% A T & = fean s
qoft =t HH % IR 30 T@ena, 2012 B FEE F T 50,000 FTAT 1 SFEL, 2013 B P A
% 20,000 it sAfafaa St o0 | 31 A, 2013 ! WA BF O 99 & W w6 Hr A
T3,37,800 41 |
(30) TR BIE I Yo TEEIT S GH GHIS GO AT e €
(@) 31 9, 2013 H G 89 AT Y % o gt fafiem T daR i |
Satnam and Qureshi after doing their MBA decided to start a partnership firm to
manufacture ISI marked electronic goods for economically weaker section of the
society. Satnam also expressed his willingness to admit Juliee as a partner without
capital who is specially abled but a very creative and intelligent friend of him. Qureshi
agreed to this. They formed a partnership on 1* April 2012 on the following terms :

(1) Satnam will contribute ¥ 4,00,000 and Qureshi will contribute ¥ 2,00,000 as
capitals.

(i1) Satnam, Qureshi and Juliee will share profits in the ratioof 2: 2 : 1.

(iii} Interest on capital will be allowed @ 6% p.a.

Due to shortage of capital Satnam contributed ¥ 50,000 on 30™ September, 2012 and

Qureshi contributed T 20,000 on 1¥ January, 2013 as additional capitals. The profit of

the firm for the year ended 31% March, 2013 was ¥ 3,37,800.

(a) Identify any two values which the firm wants to communicate to the society.

(b) Prepare Profit & Loss Appropriation Account for the year ending 31% March,
2013. '
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15.

1 30, 2012 H T 25,00,000 H e G & oy wHw fafges = fmbor fe mar st
T 50 WS F 50,000 3R F i ot 1 FEAr A 45,000 o % v whweror it
AT O 3R e | e P ver @ e
AW TS
A T® . T2
AW ;WY G
v o¥ ot sTfer gom SN HEEr 3 ot wftt st B e Y R | o & S
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@ TE & o wrat F e W F9= |

On 1% April, 2012 Mayank Ltd. was formed with an authorised capital of T 25,00,000
divided into 50,000 equity shares of ¥ 50 each. The company issued prospectus
inviting applications for 45,000 shares. The issue price was payable as under :

On Application : ¥ 15
On Allotment : T 20
On call : Balance amount

The issue was fully subscribed and the company allotted shares to all the applicants.

The company did not make the call during the year.

Show the following :

(a) Share capital in the Balance Sheet of the company as per revised Schedule-VI,
Part-I of the Companies Act, 1956.

(b) Also prepare ‘Notes to Accounts’ for the same.

FAT, T T T UH FH W ARRER &, SN HUS TN A 1T 5 ¢ 3 ;2 F U | A B
SN W A | 1 3P, 2012 F FF6! G0 579 T 3,00,000, T 4,00,000 721 T 5,00,000
ot | FEEe ¥ 91g o ¥ arg gt Rt R sfwTa w0 @ g difgal @ wewa 5@ -
fora foram

Tae forw s = 1 faaray, 2012 B w8 A T 30,000 1 A AT | HE A FH A THE A
BT FTA FI 3T T 36,000 F F0L ferw aiv 32 ang difedt # s faar | ot X T A
1 SR, 2013 Y S1o Gt ] T 1,50,000 1 ot T ol amg wenfae @ F wafies e
W A % o ue et oW e

WERR! §eig ¥ AR TR0 W Wiaay 6% i 5 S =t fedlt s | sifey @@ SR we
o 915 IF IR AT SER0T 9T S A o v |

ST FHEISH WERE BTG o & foaon # T w9 9 39ty iﬂﬁﬁ&ﬂﬁwm
ot AT A & VR I H TGO HE0 96 & |
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Amar, Karan and Varun were partners in a firm manufacturing garments. They were
sharing profits in the ratio of 5 : 3 : 2. On 1¥ April, 2012 their capitals were
< 3,00,000, ¥ 4,00,000 and T 5,00,000 respectively. After the flood in Uttaranchal, all
partners decide to personally help the flood victims. For this Amar withdrew ¥ 30,000
from the firm on 1* September 2012, Karan, instead of withdrawing cash from the
firm took garments amounting to ¥ 36,000 from the firm and distributed to the flood
victims. On the other hand, Varun withdrew ¥ 1,50,000 from his capital on 1* January,
2013 and started a school to provide elementary education in the flood affected area.

The partnership deed provides for charging interest on drawing @ 6% p.a. After the
Final Accounts were prepared, it was discovered that interest on drawings had not
been charged.

Give the necessary adjusting journal entry and show the working notes clearly. Also
state any two values that the partners wanted to communicate to the society.

16. FHR o1 IR T T F WEIRK & A1 A Goft F SR W o afed % 1 31-3-2013 H

et feafa faawor fooet we o 6
31-3-2013 &t FAW 7T 7R w1 Fafy frawon
TRR 80,000 | % 79,000
FHART afagfa ff 25,000 | =R 1,70,000
FIR T T Grell 24,000 | ©F 34,000
it Tttt 79,000
FAR 1,50,000 TR T Te] @ 17,000
T 1,00,000 | 2,50,000
| 3,79,000 3,79,000
IR fafr o ot T @ e
()  PIR A 50% WiE /S (@F 557 @ 10% F9 [0 | o B a9 9 2 5t
¥ 10,000 ® 39 Ty |

(i) <TERI ¥ 5% % 9T W agell g |

(i) Tw i W e o g o W e mr an, €.9,000 § = few e | meheRy
¥ 18,000 ¥ =t 7% |

(iv) ©RRE @i ot R feg T |

(v) AU W 14,000 1 U oet o o foveen fuem 2 12,000 & e mar |

A G AR HT |
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Kumar and Gaurav were partners in a firm sharing profits in the ratio of their capitals.
On 31-3-2013 their Balance Sheet was as follows :
Balance Sheet of Kumar and Gaurav as on 31* March, 2013

Liabilities A‘“g““‘ Assets Amunt
Creditors 80,000 | Bank 79,000
Debtors 1,70,000
Workmen Compensation Stock 34,000
Fund 25,000 | Machinery 79,000
Kumar's Current Account 24,000 | Gaurav’s Current Account 17,000
Capitals :
Kumar 1,50,000
Gaurav 1.00.000 | 2,50,000 : '
3,79,000 3,79,000

On the above date the firrn was dissolved :

(i) Kumar took over 50% of the stock at 10% less than its book value. The
remaining stock was sold for ¥ 10,000.

(ii) Debtors were realized at a discount of 5%.

(iii) An unrecorded asset was sold for ¥ 9,000 and machinery was sold for < 18,000.

(iv) Creditors were paid in full.

(v) There was an outstanding bill for repairs amounting to ¥ 14,000 which was
settled at T 12,000.

Prepare Realisation Account.

17, s e i w W & e A 3 ;2 % o o w4 11 s

2012 ) THE ) 38 TF TERER & w0 3 & & vaw R 1 34 fofe = e an oW w0
Teafer fraror FrraR o
1 78T, 2012 Tt WE 7T AE9r Y e faawor
St Nt oot s
z? L4
TR 2,10,000 | g s 1,40,000
FHERT eyl 2,50,000 | T/R 1,60,000
T 99g 1,60,000 | @i 1,20,000
Gait T 1,00,000
e 1,00,000 ' Ce 2,80,000
e 80.000 | 1,80,000
8,00,000 8,00,000
75 g gan 5

() waT g € % Jed %A T 3,80,000 79 T 1,60,000 TF ST ST |

(i) wed arfagfa ff = afe T2,30,000 v R mn

(iii) T G =l & 9 % e € 1,00,000 7 #E

(iv) ST T T WA B S ¥ IR T H g T I AR o §
o5 swet I Higd wd WY B TgE o7 & 20% F T 8 AT |

(V) mﬁm-ﬁwwmﬁwwm:nﬁﬁ%ﬁﬁmgﬁ%m%ﬁmwwéﬁm |
T @, TEER & It @ ar 78 wd o Ref freror dew ST | TeRa g e
T St Bt Tor | e w9 @ 59y |

HYAT
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TR, PUR TUT HicTl T %o A WIZRR & ot
1 31, 2012 B I Tty oraot ot v

90

1-4-2012 1 HIA, FAW AT wiran w1 Rafey frawor
et ¢ it T
TRR 1,20,000 | g 70,000
37 faet 1,80,000 | TR 2,00,000
T Eeg 1,20,000 | 52T : W 10,000 | 1,90,000
il LoiEa 2,20,000
FHIA 3,00,000 Liirg 1,20,000
FAR 2,80,000 Jo 3,00,000
SHierar 3.00,000 | 8,80,000 | g 4,00,000
13,00,000 13,00,000
IR feifer it e = st vEOT TR e v T for 7
(i) B T B e T 40,000 fr Ty )
(i) 9 1 qF 30% T ST T g W® T 1,00,000 | oIETE AT W )
(ifi) wATER ¥ e # T 20,000 F 73 S

()
)

I T FAR
/ ¥ At 3w
e EIT, SRR %
%I feuf e dar iR )

Mohan and Mahesh were
lSt

(vi)

T O G FF T 15,000 TF TS W@ |
Wﬁﬁnﬁmlﬂ%wwﬁmmmﬁqwmm@ﬁﬁ
TG T & S )

it S T2 T T F a1 AR o oo w9
TR =16 Wil % A @ fan s |
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Mohan and Mahesh on that date was as under :
Balance Sheet of Mohan and Mahesh as on 1% April, 2012

67/1/3
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partners in a firm sharing profits in the ratio of 3 : 2. On
April, 2012 they admitted Nusrat as a partner in the firm. The Balance Sheet of

Liabilities A'“;,’““t Assets A“’;,’““‘
Creditors 2,10,000 | Cash in hand 1,40,000
Workmen’s Compensation Debtors 1,60,000
Fund 2,50,000 | Stock 1,20,000
General Reserve 1,60,000 | Machinery 1,00,000
Capitals : Building 2,80,000

Mohan 1,00,000
Mahesh 80,000 | 1,80,000
8,00,000 8,00,000
It was agreed that :
()  The value of Building and Stock be appreciated to ¥ 3,80,000 and T 1,60,000

respectively.
(ii)
(iii)

9

The liabilities of workmen’s compensation fund was determined at 2,30,000.
Nusrat brought in her share of goodwill ¥ 1,00,000 in cash.

[P.T.O.



(iv) Nusrat was to bring further cash as would make her capital equal to 20% of the
combined capital of Mohan and Mahesh after above revaluation and adjustments

are carried out.
2 1
(v) The future profit sharing ratio will be Mohan %‘h, Mahesh T, Nusrat g‘h

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet of the
new firm. Also show clearly the calculation of Capital brought by Nusrat.
OR
Kushal, Kumar and Kavita were partners in a firm sharing profits in the ratioof 3: 1 : 1.
On 1* April, 2012 their Balance Sheet was as follows :
Balance Sheet of Kushal, Kumar and Kavita as on 1% April, 2012

Liabilities Am;,’““‘ Assets Am;““t
Creditors 1,20,000 | Cash 70,000
Bills Payable 1,880,000 | Debtors 2,00,000
General Reserve 1,20,000 { Less : Provision __10.000 | 1,90,000
Capitals : Stock 2,20,000

Kushal 3,00,000 Furniture 1,20,600
Kumar 2,80,000 Building 3,00,000
Kavita 3,00,000 8,80,000 | Land 4,00,000

13,00,000 13,00,000

On the above date Kavita retired and the following was agreed :

(i) Goodwill of the firm was valued at ¥ 40,000.

(ii) Land was to be appreciated by 30% and building was to be depreciated by
T 1,00,000.

(iii) Value of furniture was to be reduced by ¥ 20,000.

(iv) Bad debts reserve is to be increased to ¥ 15,000.

(v) 10% of the amount payable to Kavita was paid in cash and the balance was

transferred to her Loan Account.

Capitals of Kushal and Kumar will be in proportion to their new profit sharing

ratio. The surplus/deficit, if any in their Capital Accounts will be adjusted

through Current Accounts.

Prepare Revaluation Account, Partner’s Capital Accounts and Balance Sheet of Kushal

and Kumar after Kavita’s retirement.

18. TEg o st fafieE ¥ T 100 v&® ¥ 40,000 THAT 390 & 6% F 3 W FHiHT F & o
AR T f | Tfin frer weem @ 2 ot '
A T 3EeA W — T 90 iy 37w
TR TAT AT AT 9T — S ST
60,000 2feit ¥ AT omaew WE gT | 10,000 I ¥ EEA W ® A w9y
FTATH T ANTH SR GT AT BT S BT T/ | STEH e STmeie 0 Wi SAfeifia
7 T T TETE o ue it arer e 3 af § ¢ fern gl A it | S
| T sivmRe R 50 vl % T eee R A, vew e sifaw areen aft @&
T el BT UTT | SWE 37wt et o) o T 4w Rl v sl et % 97 Wi i ot
e g: Fifae 6 g mar .
IR AT % 1T wo o oie fefide =t qeael §  sTavas Ao afaftedt S |
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XYZ Ltd. invited applications for 40,000 equity shares of ¥ 100 each at a discount of
6%. The amount was payable as follows :

On Application and Allotment — T 90 per share
On First and Final call — the balance amount.

Application for 60,000 shares were received. Applications for 10,000 shares were
rejected and shares were allotted on pro-rata basis to remaining applicants. Excess
application money received on application and allotment was adjusted towards sums
due on first and final call. The calls were made. A shareholder, who applied for 50
shares, failed to pay the first and final call money. His shares were forfeited. All the
forfeited shares were re-issued at 7 97 per share fully paid up.

Pass necessary journal entries for the above transactions in the books of XYZ Ltd.
OR

AB Ltd.iinvited applications for issuing 75,000 equity shares of Z 100 each at a
premium of T 30 per share. The amount was payable as follows : -

On Application and Allotment — T 85 per share (including premium)
On First and Final call - the balance Amount

Applications for 1,27,500 shares were received. Applications for 27,500 shares were
rejected and shares were allotted on pro-rata basis to the remaining applicants. Excess
money received on application and allotment was adjusted towards sums due on first
and final call. The calls were made. A shareholder, who applied for 1,000 shares,
failed to pay the first and final call money. His shares were forfeited. All the forfeited
shares were reissued at T 150 per share fully paid up.

Pass necessary journal entries for the above transactions in the books of AB Litd.
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PART -B
(Rerefiar ferarzunt 6t ferserwom)
(Financial Statements Analysis)

19. ‘WWW’W%WWWWa

State the objective of preparing ‘Cash Flow.Statement’.

20. ‘ﬁﬁlﬂﬁaﬁﬁ%ﬁxﬁwﬁ%ﬁé}wﬁmmmaﬁmn

State any one limjtation of ‘ Analysis of Financial Statements’.

21. mmﬁwmm‘mm’mwmw

What is meant by ‘Cash Equivalents’ while preparing Cash Flow Statement ?

22. %ﬁaﬁﬁw 1956ﬁﬁ-w,m-1%mﬁﬁﬁﬂn%%ﬂw-ﬁﬁﬁﬁ%mﬁﬁﬁﬁé

() Sufea e

(i) T IR

(i) ey et omal)  fere e
(iv) oTE™ S

(v) oTea-FEry FoT

(vi) Se-3rEy FoT |

Under which major sub-beadings the following items will be placed in the Balance
Sheet of a company as per revised Schedule-V1, Part-1 of the Companies Act, 1956 :

(i) Accrued Incomes

(i) Loose Tools

(iii) Provision for employees benefits
(iv) Unpaid dividend

(v) Short-term loans

(vi) Long-term loans.

67/1/3 12
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T | T 7,00,000 5,00,000
g AT 75,000 1,00,000
= 4,50,000 3,75,000
FTWIT50% o |
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From the following ‘Statement of Profit & Loss’ for the year ended 31% March, 2013,

prepare a ‘Comparative Statement of Profit & Loss’ of Better Sales Ltd.

) Note | 2012-2013 | 2011-2012
Particulars :
No. 4 T
Revenue from operations 7,00,000 5,00,000
Other Incomes 75,000 1,00,000 |
Expenses 4,50,000 3,775,000 |

Rate of Income Tax was 50%.

(31 Tr=tefad gum | oLauar s = T ST
L4

e o
ettt STrEie
=], ST

g Rt
ey et

™|

8,00,000
4,00,000
2,00,000
14,40,000
3,60,000
(@ T fAHS T GRS FUE 1 : 1 ¢ | B Gied ool Hiie & frafeiaa o &

S W (i) gl BRI, (i) S G AT (iii) N uRee T S |

(1) =i SFamet 9 T 3,000 &1 vF 39 oo wifed o, suer e w1 R

(2) T 50,000 % Fomat T guen v # uiafa fwar mr

(a) From the following information compute Debt-Equity Ratio :

L4
Long term Borrowings 8,00,000
Long term Provisions 4,00,000
Current Liabilities 2,00,000
Non-current-Assets 14,40,000
Current-Assets 3,60,000
13
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(b)

The Quick Ratio of Z Ltd. is 1 :

1. State with reason which of the following

transactions would (i) increase ; (ii) decrease or (iii) not change the ratio :

(1)

met on maturity.

Included in the trade payables was a Bills payable of ¥ 3,000 which was

(2) Debentures of ¥ 50,000 were converted into Equity shares,
25. e fefiee & 31-3-2013 w9 31-3- 2012%mmﬁﬁﬁwﬁ%mwm
vae ferarer dar wie
frerar - 31 3?2013 31 3?2012
I T e dgans
(1) stwrar ffer
(a0 W s 2,10,000 |  1,80,000
(q) e uE anfue 1 1,32,000 24,000
(2) e i
(31) ST o1 1,50,000 |  1,50,000
(3) e T
(37) = STt 75,000 27,000
. A 567,000 | 3,81,000
. wwfaat
(1) er=rer geafaat
(30 = wfar
(i) T SRareE 2,94,000 |  2,52,000
(&) I e 48,000 18,000
(2) e wRtEt
(30 =1 fafwrim (fauor) 54,000 60,000
@ wioar 1,07,000 24,000
(9) T Wit 40,000 17,500
(@) U a9 g T 24,000 9,500
T 5,67,000 |  3,81,000
& e
Az -1
forawor 2013 2012
4 3
o U ATt
3 (em-gIf feraer 1 9) 1,32,000 | 24,000
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Prepare a Cash Flow Statement on the basis of the information given in the Balance

Sheets of Liva Ltd. as at 31-3-2013 and 31-3-2012 ;

Particulars l‘;?ot.e 31-3;2013 31-3;2012
I. Equity and Liabilities
(1) Shareholders Funds
(a) Share Capital 2,10,000 1,80,000
(b) Reserves & Surplus 1,32,000 24,000
(2) Non-current Liabilities 1
(a) Long term-borrowings 1,50,000 1,50,000
(3) Current Liabilities
(a) Trade Payables 75,000 27,000
' Total 5,67,000 3,81,000
II. Assets
(1) Non-current Assets
(a) Fixed Assets
(1) Tangible Assets 2,94,000 2,52,000
(b) Non-current Investments 48,000 18,000
(2) Current Assets
(2) Current-Investments (marketable) 54,000 60,000
(b) Inventories 1,07,000 24,000
(¢c) Trade Receivables 40,600 17,500
(d) Cash and Cash-equivalents 24,000 9,500
Total 5,67,000 3,81,000
Notes to Accounts :
Note -1
Particulars 2013 2012
L 4 T
Reserves and Surplus
Surplus (balance in statement of | 1,32,000 | 24,000
profit and loss)

67/1/3
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-1
PART-C
(afrrers vam)
(Computerized Accounting)
19, TEFTA (SQL) FE ?
What is SQL ?

20. <OROY & SR ¥ ?
What is meant by ‘Table’ ?

21. Mmﬁ%@w%wﬁ‘aﬁﬁh’@waﬁm%?

What is meant by ‘procedure’ as a component of Computerized Accounting System ?

). ST ST YOI 1 S e i e & e Sy |

Give one advantage and two limitations of Computerised Accounting System.

23, s (SagmiEe) qgr TEE HIgH H A |

Explain ‘Sequential” and ‘Mnemonic’ codes.

24, TG WY T % TEEl T A B THERY |

Explain any four advantages of Data Base Management System.

25. ﬁw%hawﬁﬁmﬂﬁﬁm%%qqﬁﬁwxﬁﬁmaﬁwz
(3 n%m%n%as%w,wgam?18,000aazs%mwﬁw30%ﬁﬂﬁ1
) ¥ 5T 18,000 7% ¥ T 3G W 25% T T FR 30% T |
(%) ﬂ:{éﬁ#%ﬁﬂlﬁﬁﬁ?ﬁﬂ%ﬂéwwﬁwam%qmwn

Calculate the formulae from the following information on Excel for computing the
amounts for

(a) Dearness Allowance, Basic Pay upto ¥ 18,000 at 25% and above it at 30%.
(b) Tax payable, Basic pay upto ¥ 18,000 at 25% and 30% above that.

() Net Salary, Adding Dearness Aliowance and deducting Tax payable from Basic
pay.
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